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▼記述問題の部▼ 
下記の英文を読み、それに続く日本語の文章を英訳してください。 
 
Wheelchairs are used by people for whom walking is difficult or impossible due to 
illness, injury or disability. A wheelchair can assist such people to become mobile and 
independent.  However, some common tasks that are routine for people who can walk 
are difficult for a wheelchair user.  One example is grocery shopping.  To grocery shop 
using a grocery cart, the user of a wheelchair needs to simultaneously control both the 
wheelchair and the grocery cart.  Such an endeavor is very difficult, if not impossible, 
to perform.   
この発明は、車椅子の使用者の車椅子での移動性と自立性とを更に高め, 食料品の購入などの
日常業務を行うことを支援することを目的とする。具体的には、車椅子と買い物カートとを同時に

安全に操ることを可能とする装置と方法とを提供するものである。 
 
 
回答： 

 
 
 
 



■選択問題の部■ 
 
問 1. 次の英文のそれぞれについて最も近い意味の和訳文を選びなさい。 
（1） 
The members may or may not be integrated. 

 

 
（2） 
Design patents and trademarks are often confused but are different things. 

 
（3） 
Turbines used in wind farms for electric power production are usually controlled to 
point into the wind by computer-controlled motors. 

 
（4） 
Nuclear power generation is being reviewed as it does not produce greenhouse gases. 

 
（5） 
A claim should be broad enough to cover any form of the subject matter of the invention. 

 
 



（6） 
Instead of preparing a film, an alternative method is to apply the resin system directly 
onto a, tape or cloth. 

 
（7） 
Registering a trademark is an excellent step to take to protect your name or logo. 

 
 
（8） 
A capacitor is connected to a node between the coil and the diode. 

 
（9） 
One of the main advantages of electric vehicles is that no pollutants are emitted directly 
by the vehicle potentially reducing pollution. 

 
（10） 
None of these literatures illustrates this remarkable feature of the present invention. 

 



問 2. 次の英文のそれぞれについて明らかに誤った和訳文をひとつ選びなさい。 
（1） 
A person skilled in the art would easily conceive the invention. 

 
（2） 
A claim readable on a known product lacks novelty. 

 
（3） 
The desk has a generally flat top panel. 

 
 
（4） 
One mature industry that is economically sensitive to costs is the heating, ventilation 
and air conditioning (HVAC) industry. 

 
（5） 
A beverage can generally has a pull-top tab. 

 
（6） 
If all elements of a patent claim cannot be found in any single prior art reference, then 
the claim is considered novel. 



 
（7） 
A greater heat transfer coefficient provides a correspondingly higher effectiveness of 
heat exchanger. 

 
（8） 
Fig. 1 is a cross-sectional view of an embodiment. 

 
（9） 
A chromium content less than 1 wt% fails to provide the expected result. 

 
（10） 
The criterion of practical use of electric vehicles is whether they can provide a mobile 
performance equivalent to or more than that of the gasoline vehicles. 

 
 
問 3. 次の日本文のそれぞれについて最も近い意味の英訳文を選びなさい。 
（1） 
分子量としては 500.000 乃至 10.000が望ましいが、そうでなくても良い。 



 
（2） 
高炉から出銑した鉄は鋳型に流し込まれてインゴットと呼ばれる塊となる。 

 
（3） 
特許は審査官の審査を経てはじめて発行されるものであり、これには普通２－３年かかる。 

 
（4） 
これらの問題を完全に解決できないまでも抑えることがこの発明の目的である。 

 
（5） 
クレームに記載された文言と明細書に記載された文言とは必ずしも同じである必要はない。 

 
 
 



（6） 
この条件が満たされればステップ２９に進むがそうでなければバイパスして直接ステップ３０に進

む。 

 
（7） 
産業現場における輸送技術が臨床検査にも導入されてきた。 

 
（8） 
温室効果ガスにはいろいろな種類のものがあるが、とりわけ二酸化炭素が最も問題である。 

 
（9） 
図３は図２に示す装置の分解斜視図である。 

 
（10） 
市街地の気温は一般的に高くなる傾向にある。 

 
問 4. 次の日本文のそれぞれについて明らかに誤った英訳文を一つ選びなさい。 
（1） 
優先権証明用の翻訳はできるだけ原文に忠実でなければならない。 



 
（2） 
この泡は、従来の曝気技術で用いられているものよりも数桁小さい。 

 
 
（3） 
電気モーター駆動の自動車が回生制動を行う場合にはモーターを発電機として使用する。 

 
（4） 
自動車のデザインにおいては車内空間を大きくすることがますます求められるようになってきてい

る。 

 
（5） 
従来のベビーカーの持つもうひとつの問題は斜面を降る際の制動である。 



 
（6） 
ハイブリッドカーの開発は、燃費の向上と公害防止のふたつの貢献を果たしてきた。 

 
 
（7） 
雲は空気中の水蒸気が飽和したときに凝縮してできた細かな水滴の集まりである。 

 
 
（8） 
ウインドシアとは、小さな距離を隔てた空間の間での風速や風向の差のことである。 

 
（9） 
日本では、特許の保護範囲や特許対象となる技術の分野が拡がりつつある。 

 
 
（10） 
特許、著作権、商標は混同されがちであるが異なるものであり目的も異なる。 



 
 

以上 


